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restart

Ecuacion = (2-x-y(x)-
y(x)- 3+2x 3-y(x

+25° y(x) (

with(DEtools) :
odeadvisor(Ecuacion)

3+2 x-y(x ) 4—|—3 X 2y(x)-2) + (3x-2-y(x)--2+4-x--2

) -diff (v =0

Ecuacion =2 xy(x ) +2xy(x) +3x y( ) —|—(3)czy()c)z—|—4x2y()c)3

) ] =0

[ _exact, rational, dAlembert]

M:: 2.x.y. .3 +2.x.y. .4 + 3.x. .2.y. .2

M:=2xy3+2xy4—|—3x2y2

N:: 3.x..2.y..2 _+_4.x..2.y..3 +2.x..3.y

N:=3x2y2+4x2y3+2x3y

Comprobacion = simplify(diff (M, y) — diff (N, x)) =0

IntMx = int(M, x)

IntNy := int(N, y)

SG1 == IntMx + int( (N —

SG2 == IntNy + int( (M —

EcuacionDos = (2-y(x )
x2y(x dlff

Comprobacion :=0=0
IntMx = x* y3 +y4 e +y2 S

IntNy := xzy3 +y4x2 —i—yzx3
diff (IntMx, y) ), y) =C,
SG1 :=x2y3 +y4x2 —I—yzx3 =C,
diff (IntNy, x) ), x) = C,
SG2 :=x2y3 +y4x2 —I—yzx3 =C,

3 +2 Y(x)-4+3xy(x)-2)+ 3 xy(x)2+4xyx)3+2
=0

EcuaczonDos.—2y( ) +2y( ) —|-3xy(x)2+(?,)cy()c)2+4)cy(x)3

+2275(0) (4 pin | =0

_> odeadvisor(EcuacionDos)

[ _rational, dAlembert]

> Factorlntegrante := intfactor(EcuacionDos)

Factorlntegrante := x

_> EcuacionTres :== (2-xy(x)--2+2-xy(x)--3+3-x-2-py(x)) +(3-x-2-y(x) +4-x--2

y(x) 2+ 20x-3) diff (y(x),x) =0

EcuacionTres :=2 xy(x)2 +2 xy(x)3 +3 xzy(x) + (3 xzy(x) +4 xzy(x)

+2x3) (%y(x)) =0

_> odeadvisor(EcuacionTres)
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[ rational]

_> simplify(intfactor( EcuacionTres))
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L> FactorTres ==y

[>

FactorTres .=y (16)



